The distance between Leeds and London is 200 miles.
What is the distance between Leeds and London in kilometres?

Use 8 km equals 5 miles.

km

The distance between Calais and Paris is 288 km.
What is the distance between Calais and Paris in miles?

Use 8 km equals 5 miles.

miles

Aline is measured to be 9 inches long.
What is the length of the line in cm?

Use 1 inch equals 2.5 cm.

cm

Aline is measured to be 17.5 cm long.
What is the length of the line in inches?

Use 1 inch equals 2.5 cm.

inches

A sack of potatoes has a mass of 5kg.
What is the mass of the potatoes in pounds?

Use 1 kg equals 2.2 pounds.

Ibs

A rugby player has a mass of 220 Ibs.
What is the mass of the rugby player in kg?

Use 1 kg equals 2.2 pounds.

kg
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1 mark

1 mark

1 mark

1 mark

1 mark
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